## **ORDER #005710**



**Platinum Events** 

**01/18/2025** 12:00 PM | Load Trailer - LA to Utah

**01/19/2025** 07:00 PM | Crew Arrival - Park City

01/20/2025 08:00 AM | Install - Day 1 01/21/2025 09:00 AM | Install - Day 2

01/22/2025 09:00 AM | Install - Day 3 |

Marshall Walk Through

01/23/2025 08:00 AM | Event Day - 01/23 to

01/26 - (Stand By Crew)

01/27/2025 09:00 AM | Strike - Load Trailer -

Utah to LA

01/28/2025 09:00 AM | Trailer Arrives to LA

PO: Macro - Sundance 2025

**Shipping Address:** 

Downstairs: 625 Main St., Park City, UT

84060

Extended Rentals - 01/17 to 01/28

Order Date: October 21, 2024 Due Date: Upon Receipt

Description		Qtty	Price		Total
General					
	Hard Set Walls - ~ 31' x 5'10" Stage Walls   Flame Retardant Coating on Wood*	1	\$2,700.00	Т	\$2,700.00
	Hard Set Wall - 9' x 4" x 86"h Behind Bar   Flame Retardant Coating on Wood*	1	\$700.00	Т	\$700.00
	Hard Set Wall - 11' x 8'h BOH w. Door   Flame Retardant Coating on Wood*	1	\$900.00	Т	\$900.00
	Hard Set Wall - 10' x 87"h "Stay Macro"   Flame Retardant Coating on Wood*	1	\$750.00	Т	\$750.00
A	Ghost Dining Chair, Amber	40	\$10.50	Т	\$840.00
	DJ Booth - TBD	1	\$250.00	Т	\$500.00
			Total General		\$6,390.00
Section 1					
	Belgrad Side Table	5	\$85.00	Т	\$850.00
	Zelda Sectional - 3pc Set   Camel Velvet	1	\$1,950.00	Т	\$3,900.00
			Total Section 1		\$4,750.00
Section 2					
	Brown Teak Stump Accent Table	1	\$125.00	Т	\$250.00

Description		Qtty	Price		Total
	Fabric Cover - 5' Benches Boucle Fabric *	2	\$125.00	Т	\$250.00
	Celine Ottoman, Taupe	3	\$55.00	T	\$330.00
	Ottoman Cover   Vanilla Vegan Leather	3	\$65.00	T	\$195.00
	Layton Accent Chair - Off White W. Wooden Legs	1	\$250.00	Т	\$500.00
TO	Brown Teak Live Edge Coffee Table - Brown W. Black Legs	1	\$175.00	Т	\$350.00
			Total Section	on 2	\$1,875.00
Section 3					
	Celine Ottoman, Taupe	3	\$55.00	T	\$330.00
	Ottoman Cover   Vanilla Vegan Leather	3	\$65.00	Т	\$195.00
	Fabric Cover - Existing "C" Sofa	1	\$600.00	Т	\$600.00
7	Live Edge Top Accent Table - Brown W. Black Legs	2	\$125.00	Т	\$500.00
			Total Section 3		\$1,625.00
Section 4					
	Wool Poof - Off White	2	\$95.00	Т	\$380.00
	Accent Table	1	\$125.00	Т	\$250.00
			Total Section	on 4	\$630.00
Section 5					
	Brown Teak Stump Accent Table	4	\$125.00	T	\$1,000.00
	Dawson Sofa - Beige Faux Fur	2	\$650.00	Т	\$2,600.00
	Coffee Table - Live Edge Brown Wood	2	\$175.00	Т	\$700.00

T \$250.00 T \$95.00 T \$880.00 T \$550.00 T \$550.00
T \$520.00 T \$550.00
T \$520.00 T \$550.00
T \$550.00
\$6,595.00
T \$350.00
T \$1,000.00
T \$900.00
T \$350.00
T \$380.00
\$2,980.00
T \$300.00
T \$170.00
a \$470.00
T \$6,750.00
\$1,750.00
\$1,250.00
\$2,240.00
\$2,240.00

Description		Qtty	Price	Total
	Install Crew - Day 1 Monday - 01/20	5	\$320.00	\$1,600.00
	Install Crew - Day 2 Tuesday - 01/21	5	\$320.00	\$1,600.00
	Install Crew - Day 3 Tuesday - 01/22	5	\$320.00	\$1,600.00
	Standy Crew - 4 Days Thursday 01/23 through 01/26	2	\$560.00	\$1,120.00
	Per Diem Standy By Crew (\$782 x 2)   Install/Strike Crew (\$575 x 3)	1	\$3,128.00	\$3,128.00
	Crew Lodging - Pending Confirmation 01/19 through 01/27	1	\$4,900.00	\$4,900.00
	Flights - Install Crew   Round Trip	1	\$2,300.00	\$2,300.00
	Flights - Standby Crew   Round Trip	1	\$1,475.00	\$1,475.00
	Flights - Strike Crew   Round Trip	1	\$1,444.00	\$1,444.00
	Round Trip Flight - Site Walk Through	1	\$809.00	\$809.00
	Pre-Production Site Walk Through / Diagrams / Samples	1	\$950.00	\$950.00
	1.5% W.C. Fee	1	\$933.44	\$933.44
Notes			Total Products:	\$25,315.00
Notes		Total La	bor/Services/Misc:	\$36,089.44
			Taxes:	\$3,046.18
			Discounts:	(\$0.00)
			Total:	\$64,450.62
			Payments:	(\$0.00)
			Balance:	\$64,450.62